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1 SHHX| Z0 ofs ] Lol MAAS 1 11,000 9,900 9,900
2 CHEHSE EH | M st2oj2lo| 1 17,000 15,300 15,300
3 OfF BEME & EEE 1 13,000 11,700 11,700
4 o HHLE CE2E 1 12,000 10,800 10,800
5 22| BFo| 5tF HHO|A| 2 1 15,000 13,500 13,500
6 g=372 EEEEXE] 1 15,000 13,500 13,500
7 R ECL 7| = 1 13,000 11,700 11,700
8 Otg? Z 0| AHKIOF 7| = 1 13,000 11,700 11,700
9 ofgol aalxt olo|=gtE A 1 11,000 9,900 9,900
10 |2d, 68 25Y MK o|Ht2t 1 14,000 12,600 12,600
11 |ARASE A0 SE0{F = SHH| HEA 1 16,000 14,400 14,400
12 |AQe = 8 4l otg|Le Otf2FL|0f 1 12,000 10,800 10,800
13 |= 100&5mtz2| & EYTE] 1 15,000 13,500 13,500
14 (&2 100582 & EYEY 1 13,000 11,700 11,700
15 [2F0AM 71y d=st 1005 22 Atmte| 1 13,000 11,700 11,700
16 (Mol 74 #ES 1005 HA Atzt2| 1 12,000 10,800 10,800
17 |HIY FT Ikl 1 14,000 12,600 12,600
18 |[AXNZ StE5 1 13,000 11,700 11,700
19 |48t S E HEA 1 14,000 12,600 12,600
20 |07t gHERLO] MK o|Ht2t 1 11,000 9,900 9,900
21 | R4S MX| 2= AR N MK olutt 1 13,000 11,700 11,700
22 |ZAl0| 20| kte22te QIREBR2A 1 14,800 13,320 13,320
23 |82 Zotx| STIFEL0f 1 13,500 12,150 12,150
24 |ZFot ol Holex 1 12,000 10,800 10,800
25 |0]&=AlE &otet HIH ol Ht 2 1 15,000 13,500 13,500
26 |f&t=S otet HIHolHt2t 1 15,000 13,500 13,500
27  |MIBCHEES &otet H7Ho|utEt 1 13,000 11,700 11,700
28 |HAEES Fotet Mo o|HpE 1 15,000 13,500 13,500
29 [R2|7t A28 KLt Al LI GOl X} 1 14,000 12,600 12,600
30 |ZYD e AIRER 22 1 14,000 12,600 12,600
31 |S29 HY ZAT stelo) & 1 16,000 14,400 14,400
32 |d3o|ge| E w AlRE AZAE 1 16,000 14,400 14,400
N CELE ERNGE 2EE 1 12,500 11,250 11,250
34 |=g =7 EREL 1 13,000 11,700 11,700
35 |&A Ctolol AM L X|20| £ o ] 1 17,000 15,300 15,300
36 |2EES "YU AR Cl& 1 14,000 12,600 12,600
37 |43k ot e 520|0f WOFE K| 1 15,000 13,500 13,500
38 |H|&xt ohH Lty 1 16,800 15,120 15,120
39 |zH 28 QA=EHEI A 1 16,700 15,030 15,030
40 |25 B 280 lo| 1 15,000 13,500 13,500
41 |BAM H HJALED =X Ot F Aok 1 14,000 12,600 12,600
42 |EF0L 8% 7| =A 1 16,000 14,400 14,400
43 |2 == =0| ZH0{2lo| 1 14,000 12,600 12,600
44 |HtAZIHEAZE 7HS0(0] 21 7| = 1 13,000 11,700 11,700
45 | 0F 230, 0|27} SfF= 0|0F7| 2f 730 1 19,500 17,550 17,550
46 |A% 40| M2 HABA 1 14,000 12,600 12,600
47 |LFRF O A oL Ri0] dIA 1 15,000 13,500 13,500
48 |0t & Aol HAtE| X = MY 2 2lojZlo|(eh2 &) 1 17,000 15,300 15,300
49 | ZEHHS AEHR SHEEAMET 1 18,000 16,200 16,200
50 |7tEHS| StoF e Al MY EE0ia! oot 1 11,000 9,900 9,900
51 |2 dE2 2 O|AF M8 Fojzho|C|of 1 14,000 12,600 12,600
52 |RCHEDH A = Hshd M Ot2 3= 20| 1 13,000 11,700 11,700
53 |AI7|8ta MRe HCtE0 7| 22 ClEEE 1 14,500 13,050 13,050
54 |E%0|et gO{L|o A 0|07 OEEA 1 10,800 9,720 9,720
55 |[AMTE g@H ME A 20f 1 13,000 11,700 11,700
56  |12FO| QFH|Ab 2354 1 12,500 11,250 11,250
57 |2EX & 0 2f R 1 12,000 10,800 10,800
58 |7t7#E0| SRt EES 1 14,000 12,600 12,600
59 |Zt=Ctzt OFHARRE ZIRE Rl ZHOFX| ALAHE 1 13,000 11,700 11,700
60 |7HEIA BEX ZAlE SHEE A TY 1 12,800 11,520 11,520
61 |7tE7} 2| Z2M0{z2lo| 1 9,000 8,100 8,100
62 |7t2dl oto] HEs 1 13,000 11,700 11,700
63 |(MEOA ST IS Y a4oto| 1 16,800 15,120 15,120
64 |[HE FIY 2Aa0g2E 1 16,800 15,120 15,120
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65 [A17|3H O EOHH| AlgH 173 NE EBE 1 105,000 94,500 94,500
66 |HIEAZO| LIRA[F} A SHAEEBEAL 1 56,000 50,400 50,400
67 |det Lol BYE HHng 1 12,000 10,800 10,800
68 (}ISYY 0f2 12| 1~5HE HLS 1 65,000 58,500 58,500
69 |wdTtIEY SHE 1 13,000 11,700 11,700
70 |E3M 9 Ho| g2 MY fI=EHtRA 1 18,000 16,200 16,200
71 |EBE OfHAL 123 ME AHAE 1 27,300 24,570 24,570
72 |OFC|EHA XZIE PESSIG 1 9,000 8,100 8,100
73 |k SELeh PG I 1 9,500 8,550 8,550
74 |02 & LR PESEIG I 1 10,000 9,000 9,000
75 |98 HAN AE=E50{ZI0| 1 10,000 9,000 9,000
76 |EEudst S AXE0{E0| 1 10,000 9,000 9,000
77 |ol= g YR 2 2H™el E AE=E50{ZI0| 1 11,200 10,080 10,080
78 |¥Ro| At Fo|E PESEIG I 1 11,200 10,080 10,080
79 |Sel gtol =50| QUCt PEIVET] 1 11,200 10,080 10,080
80 |Lto HlZ, 2& HT} AXE0{ 20| 1 11,200 10,080 10,080
81 |HR=E Zele F2 PEIVETY] 1 11,200 10,080 10,080
82 (=Mt ME PESEIG 1 11,200 10,080 10,080
83 |22l Yote 220t PEIVETY] 1 12,000 10,800 10,800
84 |HIE YrEZT =22 AXE0{ 20| 1 12,000 10,800 10,800
85 |Esh xT Y PEIVETY] 1 12,000 10,800 10,800
86 |7 A& A0t PESEIG 1 12,000 10,800 10,800
87 |%ele Ho|gg Etrt PEIVETY] 1 12,000 10,800 10,800
88 |WEE9l =ME PESEIG I 1 12,000 10,800 10,800
89 |1YO|3x PESIVETY] 1 12,000 10,800 10,800
90 |Ml&2 HH= 32|0f 0] PEE G 1 12,000 10,800 10,800
91 |H{=h %2 2|AL PESIVETY] 1 12,000 10,800 10,800
92 |RE0 87 & PESEIG I 1 12,000 10,800 10,800
93 |Hleo| st X5 ME PESIVETY] 1 12,000 10,800 10,800
94 |5 ZA PESEIG I 1 12,000 10,800 10,800
95 |92 gtof +ms|oj= 7t UCt PESIVETY] 1 12,000 10,800 10,800
96 |BlR9 B LU= =5 4E PESEIG I 1 12,000 10,800 10,800
97 |Hi&E MA PESIVETY] 1 13,000 11,700 11,700
98 |H|Z ud 3549 HY PESEIG I 1 13,000 11,700 11,700
99 |Hle9o 7|HAXE x5 Mg PESIVETY] 1 14,000 12,600 12,600
100 |[AMA, 12| otF o= FEENVER 1 14,000 12,600 12,600
101 |d29 2X Fo| PESIVETY] 1 11,200 10,080 10,080
102 |2l Btoll =50| ULt AxE0{2I0| 1 11,200 10,080 10,080
103 |Lto Hl=, =& M7} PESIVETY] 1 12,000 10,800 10,800
104 |71F 217 AltH, £7|22 ZH =9 SEFL0f 1 14,000 12,600 12,600
105 |00 9= AHES CYNEPN 1 17,000 15,300 15,300
106 |42 2ES E0R H & 1 13,000 11,700 11,700
107 | &H4d Oft e 1 12,000 10,800 10,800
108 |AFO|Ed H 238 STIFL O 1 13,000 11,700 11,700
109 |[312Y0] 1~53 ME H| xH 1 50,000 45,000 45,000
110 |FF0IAM 2 Efbf 3 8stA 1 13,000 11,700 11,700
1M1 |Z&F1 42 EH Lk 1 11,000 9,900 9,900
112 |REIEQ AFEY| 1. AEXEXad CHito] 20| 1 15,000 13,500 13,500
113 |g80Ue E5 3|85t 1 15,000 13,500 13,500
114 |E0h2, 20U e &5 A8t 1 15,000 13,500 13,500
115 |2¥Z0 2FE SOo| | 1 15,000 13,500 13,500
116 |E2[Yo M= EM 1 13,000 11,700 11,700
117 |2 RIS AAR A nRlo] UCt? L2|0) A TA! |X|StAL Ot 2= 1 13,500 12,150 12,150
118 |CHA|, D BISHAALR A X|EtAL Ot 2 E 1 14,000 12,600 12,600
119 |OFEO| 7+ HAH Zlge 1 15,000 13,500 13,500
120 |27t CHE FO|AM Tt 7|Cte| 1 13,000 11,700 11,700
121 |MEO| Lt2 - A Ctelnt TistE ABFEL|0f 1 13,500 12,150 12,150
122 | FEX ¢ora FL|0{RHK 1 15,000 13,500 13,500
123 |MROIM A 8= SHE Y 0[0fF7| EES 1 18,000 16,200 16,200
124 |84 A 1 11,800 10,620 10,620
125 [MIAZH 2 1002l OtS 0|2t £XtHHE =0|C|of 1 11,200 10,080 10,080
126 |MIAI7t 2t 1002l OF20|2tH O™ =20|C|of 1 11,200 10,080 10,080
127 |[MIAZE 2 1002l OFS0|2tH SEH =0|C|of 1 11,200 10,080 10,080
128 |MIAI7F 2t 1002l OF2 0|2t AtEHH =0|C|of 1 11,200 10,080 10,080
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129 |HoA & HAE 1 18,000 16,200 16,200
130 |dlzto] & et ES 1 18,000 16,200 16,200
131 |O|EE 387} UK &7 ChHtS 1 18,000 16,200 16,200
132 |[&5Z9 ot FH=E 1 12,000 10,800 10,800
133 |UH OHS &+ ZEAHO|= 1 13,000 11,700 11,700
134 |52 N OFZH| 1 13,000 11,700 11,700
135 |22t 228 %0 datel 54 1 16,000 14,400 14,400
136 |227|H80M 2 X 7h2H|0f2lo| 1 11,500 10,350 10,350
137 |H@ & Ad3Et o4 1 13,000 11,700 11,700
138 |tz E=0t Eta S =2 1 14,000 12,600 12,600
139 |MXE R 0|7 THRALLE 1 15,800 14,220 14,220
140 (HIZol Hd O =8HF X[ GA 1 14,000 12,600 12,600
141 |ZE[YH- XI5 220z 1 17,500 15,750 15,750
142 |MoE-H3 S35 1 15,000 13,500 13,500
143 |Lt2O| 7hatsd EEENEN] 1 14,000 12,600 12,600
144 |&9| oto| g FEI=T-E=PN 1 20,000 18,000 18,000
145 |22 4- wHo F=HS A 1 18,000 16,200 16,200
146 |MAH, Yoot Hoja? Hotds 1 13,000 11,700 11,700
147 |Y2H2-MA Xl A 1 25,000 22,500 22,500
148 |O{2I0|E {3t stof 1 15,000 13,500 13,500
149 |AYT &E =gt A 1 11,000 9,900 9,900
150 |MEES Tt FE= FUY 1 12,000 10,800 10,800
151  |RHAIEE AEE0{ZI0| 1 13,000 11,700 11,700
152 |Le & HE5 1 13,000 11,700 11,700
153 |RElE9 J2IE 1 13,500 12,150 12,150
154 |=8 Atz RLITES 1 15,000 13,500 13,500
155 |ol==2 M Mo ZLHR 1 14,000 12,600 12,600
156 | ORX|9t %= HE®ED 1 15,800 14,220 14,220
157 |t gLy =0 1 14,000 12,600 12,600
158 |108821(9| =& St A2 1 14,000 12,600 12,600
159 |tH&0 X = = 1 25,000 22,500 22,500
160 |==9YdS 23 #ta ags 1 14,000 12,600 12,600
161 |@tat-20t Z8io{2lo| 1 4,000 3,560 3,560
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